AQA-style exam questions.
Answer the questions by typing your answers into the red boxes.
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  Assessment: Origins of the Cold War
1
What ideological differences divided the Soviet Union from Britain and America? 
[4]

     
2

The Paris Peace Conference of 1946
During the conference there were sharp clashes between the Soviet delegation, which defended the national independence of all peoples, and the delegations of the USA and Great Britain, which endeavored to secure the right to interfere in the internal affairs of Germany’s former allies, particularly Bulgaria, Hungary, and Rumania, which had established people’s democratic systems. 

The Great Soviet Encyclopedia (1979).

In this statement, the Great Soviet Encyclopedia suggests that in 1946 Britain and America were trying to gain political control in eastern Europe.  Do you agree?  

Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
[6]
     
3
Who was more to blame for the Cold War:

a. The USA, or

b. The USSR? 

You must refer to both countries when explaining your answer.
[10]

     
Markscheme

1
What ideological differences divided the Soviet Union from Britain and America? 
[4]
	L1
	Basic generalisation, random fact or gives an example
	1

	L2
	Detailed* description of ONE contrast between the West and the Soviet Union OR general statements about a number of aspects
	2-3

	L3
	Detailed* description of TWO OR MORE aspects
	4

	
	* ‘detail’ includes anything which ‘puts flesh on the bones’ – so, for example, the pupil might mention that the USA was a democracy (= ‘an aspect’); detail here might include mention of Congress, or free elections, or freedom of speech.
	


2

The Paris Peace Conference of 1946
During the conference there were sharp clashes between the Soviet delegation, which defended the national independence of all peoples, and the delegations of the USA and Great Britain, which endeavored to secure the right to interfere in the internal affairs of Germany’s former allies, particularly Bulgaria, Hungary, and Rumania, which had established people’s democratic systems. 

The Great Soviet Encyclopedia (1979).

In this statement, the Great Soviet Encyclopedia suggests that in 1946 Britain and America were trying to gain political control in eastern Europe.  Do you agree?  


Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
[6]
	L1
	Offers shallow/general statement only OR a learned response showing limited relation to the specific source
	1

	L2
	Simple explanations of why the interpretation was made OR simple comments about the actions of the West or the Soviets in eastern Europe.
	2-3

	L3
	EITHER explained evaluation of the provenance of the source OR developed argument about whether Britain and America were the aggressors in eastern Europe.
	4-5

	L4
	Answer uses both parts of L3
	6


3
Who was more to blame for the Cold War:

c. The USA, or

d. The USSR? 


You must refer to both countries when explaining your answer.
[10]
	L1
	Offers shallow/general/descriptive statement(s) only; one mark only for one side only, two marks if mentions both sides.
	1-2

	L2
	EITHER detailed exploration of one idea, substantially supported by facts and explanation OR shallower explorations of a number of ideas (though still including some explanation and facts).
	3-5

	L3
	Structured answer addressing both sides of the argument, including one idea substantially supported by facts and explanation
	6-8

	L4
	Balanced, structured answer addressing both sides of the argument, including TWO OR MORE ideas substantially supported by facts and explanation.

Answer must finish with a justified/explained judgement to earn full marks.
	9-10


